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~ Note: You have four choices for each objective type question as A, B, C and D. The choice which you think
is correct, fill that circle in front of that question number in you answer book. Use marker or pen to
fill the circles. Cutting or filling up two or more circles will result no mark.
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negative change then total utility:
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' demanded and quantity supplied
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State the definition of Economics according to Prof. Robbins.
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“According to Robbins, economics is a science that studies the behaviour of human in satisfying
unlimited desires with limited resources when these resources have different use. _
Differentiate between positive and normative sciences. ?‘.'—J/’g(,;“hf"#‘}”-‘ﬁ.‘.:; '(“ - (i)
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' ience refers to those who observe and analyze the events that take place

Pasitive science: Positive sc
in a particular sphere of the universe and describe them. For example chemistry and physics etc.
Normative science: Normative science refers to the knowledge in which situations and events are

examine from a particular angle and decided that they should be like that. For example instead of
poverty, there should be prosperity, everyperson in the country should get bread, cloth and house,

Write short answers to any Six parts. (6x2=12)

instead of dictatorship should be democracy. . ) .
State four characteristics of Economic laws. _,5{ Z j;,.l:,,fg;:mj /J‘z ’;O'b‘ (iii)
_tﬁ‘ﬁﬁtﬁkffu::z/f‘(;i./d}n._ﬁ'lﬁJc/f!;wa -1 “E”%EJJ'}.O:V 7
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Four characteristics of economic laws are:
1. - There are no penalties or fines for violating of economic laws.
2. Economic laws are optional in nature.

3. Economic laws are conditional. 4. FEconomic laws infallible and universal.
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Commodities: The things that can satisfy human wants are called commodities.
Services: There arc intangibles that have value in the marked and consumers can derive tmhtyf

them. For example services of a teacher. —
What is the difference betweeh total utility and marginal “"m’ id ?4'0/ M(J:Dwr‘iﬂub!‘)/
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The unlltv obtained by using all the units of an item is called total unhty, while the rate of change ;,
total utility by the use of more than ene item is called marginal utility.
' Total utility of change .

Margmal utility = Goods change

Define law of equ|~mnrgmal utility. 4:0""’; JJ"“" Ie)f5 i)
FEULL. c.c_/a.’fc.bd/ u;z,)w/,w.;ufum;:lf..uubf i Lo S vusbinskic ol iy
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In order to get the maximum benefit, a user should spend his limited money on different items i,
such a way that he gets the same end-benefit from each item is called equi-marginal utility.

Write down two points of limitations of law of supply. -:{/jy&”&”ﬂé#}d%’ (\u |
1. Displacement 2. Need cash - ' ; ' ._«A/J fuﬂ -2 dK/Jv -1
State the concept of derived demand. ?‘Lﬁl/lfc_..,»u:?l (viii)
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If you have to ask for another goods to meet the demand for one goods, the demand for another
goods will be a derivative demand.

Write down the formula to find out the elasticity of supply. -é/fﬂ:’}b(b/(}"bgtﬁw (iv)
: J ,v,wdu" e d/ -
J
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Elasticity of supply = —Lrecentage change in supply. |
: Percentage change in price
Es= q x2
Ap q |
Write short answers to any Slx parts. 6x2=12 -éfful‘ié:fl]li;.df@
What is meant by law of decreasing returns? . ?LJ/L(LJ'I:JFIUN 0
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If the units of the variable factors are increased with the specific factor of production in the proces’
of production, then the increase in total production is less than the units. As a result of which
marginal product keeps fallmg, then lhlS trend of falling marginal product is called the Jaw 0
diminishing returns.

What is meant by internal economies of scale? . TLJ'/UI&(J}E&(&”;’
-JUU./U”JG”MU;U’”“ hc—ulllub/&/»u’rc.ﬂuKJBLY(UL‘}E/J)U”J’

Benefit which are related to a particular business and cannot be availed from other business®®

called internal economics scale. /
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| the scale of production in which goods are produced on a small scale by simple machines and

| !aboutr‘?rs is cal:el()l small scale.
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Average variable costs are the variable costs per unit of production. To find out the average variable

costs, the total variable costs are divided by the total valume of production.

ot T e P

= Average cost = Total cost

| ‘ ' Production

‘ Drawy AR and MR under perfect compe’tition: Pl :,.a,?'k'g,,d P J; @
; : TR y Jz?'Lﬁvgfufljzyuf(}ﬁ/.l/.u)»dﬁﬁ,fdﬁ,b,lt{r)_.jééw‘}; (A2
e ' ' -ﬁ'—-t'!fdi‘?ﬁkioxﬁ‘at’tgy;:@;,

dmP
= = s m P - i
: a Under perfect competition, the firm's average revenue and marginal

. revenue are equal, so they are represented by a single letter parallel to

o yr the ox letter. - 3
: ?4._.;yg;.c‘3?dr"’ 2 (vi)

- What is meant by abnormal profit? ‘
e dnnslic dNwbalad et dvd,f’,fdwm:yc.dw,ﬂdvK'»/'/i el

than the average profit, then the profit is called abnormal profit, i.e the

If the firm's profit is more
price is higher than average cost. i . . .
| fe VLA A E A (vil)

Differentiate between normal loss and abnormal loss.
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Normal loss: The firm is meeting its variable cost and is also partially meeting fixed cost. When a

certain part of the expenses is borne in the form of loss, this loss is called normal loss.
Abnormal loss: This is a state of equilibrium in which the price is equal to the average variable cost
of the firm. That is, only the variable cost of the firm are met and the loss of the firm is equal to the

total fixed cost. This loss is called Abnormal loss. .
Define horizontal mobility of labour. -QJ-:...?/"JJ_/¢:J’JJJIPJ:J” (viii)
- 1Li:(L}':',:t_:.fC’dj’Pg&.’L_T;'?,r;‘z!':f:ug‘/:f.:rﬁ'u(v"'&:‘w:zr__/:}/(}rf;l}:;;v__(fb//u];f )

A worker leaving one profession and adopting another profession should not make any difference in

his : alary and position is called horizontal mobility of labour. v - -
Ys:..:i/l_/c.—df’aﬂ (ix)

What is meant by real wages?
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‘J/);(.-.-, UM =S d:fvwvgf:;«u',/./9|.zyz’¢,'fa’i psth = 'd':é‘—J:.:«n"g(wmf;b:lv"' il

Sl TR S

- ulk‘;ﬁfg?f;:‘g_tk?_l(“fJLiuﬁ.;Z‘

ed in the form of money, the labourer also gets some more
fits are added to the money wages it is called real wages.
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A metal money whose apparent value is equal to its actual value is called a standard money.
Define credit money. : ' -Ef-:'-':’;&jd/?' (ii)
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Sometimes, a part from the wages receiv
facilities and privileges. When these bene

Write short answers to any Six parts.

What is meant by standard money?
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It is money that does not have legal status but circulates only on the basis of turst cliecks ; lSsu
commercial banks and cheques etc are credit money. In case of crcdll money, it is not pajq ; in ay

but promises to be paid in future. - y

Define token moncy. -4:—”/“ &JU’& (iii)
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This refers to a coin whose apparent value is grcmcr than its actual value, i.e., the value Written oy
the face of the coin is greater than the value of the metal used in the coin is called token Money,

Define a cheque. “f""/d J‘-Ct (iv)
et Gt e B Gl e i e Sl g,

A cheque is a written order from a bank account holdre to pay or withdraw money to a Specifieq
branch of the bank is called cheque.

_4’: u&xd/’”g;ulw et uf‘f )

Describe two dlfferences between domestic and international trade.

1. Trade agreements 2. Currency difference J/ kU, Y 2 ; a0 1 2
What is meant by Balance of Trade? s L (vi)

e b NI Vb i T oSt /SAN b oy
"The calculation of the value of a country's annual tangible exports and the value of its tanglb]e
imports is called the balance of trade"

What is meant by Royalty? fesly l"("--(RO}"""")UJ"’J (vii)
KL :LduJé.édwu,uéuméutfufwﬁc_f il st LI ot
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A royalty is a legally bmdmg payment made to a person or company for the on going use ofthe1r
assets, franchises and natural resources etc.

What is the "rate" and "nisab" of Zakat? "y, "’,l';u”('ﬁ (vili
JHL.:;MLJL&UH)’/ULJLJJ UJJLLwJumLJJ. b 752.50trd 7.5 W3S ok
- 20 2.5%L A5 g

The rate of zakat is 2.5% per annum on 7.5, toles of gold or 52.5 tolas of gold or 52.5 to[as of silver
- or the value of both is equal to the value of cash rupees or merchandise of the same value.

Write down names of phases of trade cycles. _ _4(‘I¢L,|,,|£_ﬁ'a,g—' (iv)
=>ly -4 d/’)gr'_/r -3 dV- -2 d,:!)l.,;/- -1 :UEL!U'J)UELE&/L’:-? :._.,‘ﬂ

There are four phases of trading cyclcs: 1. Depression 2. Restoration 3. Boom 4. qShrink

(1)
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Write down important points of Adam Smith's definition of Economics.

:{rfzclmfu’r:c’u‘bwl.a:(!(‘fubk}ﬁ’uﬁW

Explain Law of Diminishing Marginal Utility with the help of schedule and g"“ph'
Z.':Ubgf’l/ﬁu'l?g,; /\L_—,,L/ il

What is meant by capital? Explain its functions |
c‘:uLo:Julu"._Afédx'd”w

Explain the various concepts of nationa] Income.
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